Related facts — Bar models
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Colour the calculations that match the bar model. Then complete the sentences.

8 5
6 2 & 1
8+6=2 8-2=6 4+1=5 5-1=4
6+2=28 2-6=8 5+4=1 4-1=5
8+2=06 8-6=2 5+1=4 1-4=5
2+6=28 6-2=8 1+4=5 5-4=1
9 6
7 ] 2 4
- - b
=q -b
q. 6- -
q- 6- -
7 10
4 3 2 8
=? =1D
7 - 10 -
= 10 -
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1 Use the bar models to help you complete the related facts.
8 7
5 ? /4 2
+ =8  +2=___
+ =8 2+ =
8 - - =2
8- = - -2=____
? 10
1 5 1 i
1+ = + =10
1= __ + =10
_— 10 - =
=1 10 - =
q ?
? 3 4 5
+ =9 e +5=___
+ =9 5+ -
qQ- = =5
qQ- = ___-5=
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